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No. of Questions : 50
el #t e ;50

Time : 2 Hours Full Marks : 200
g ;2 gU@ - qoitE @ 200

Note: (1)

(2)

(3)

This Question Booklet contains 40 Multiple Choice Questions
followed by 10 Short Answer Questions.

g9 999 i § 40 I g 10 Y I g ¥

Attempt as many MCQs as you can. Each MCQ carries 3 {Three)
marks. 1 (One) mark will be deducted for each incorrect answer.
Zero mark will be awarded for cach unattempted question. If
more than one alternative answers of MCQs seem to be
approximate to the correct answer, choose the closest one,

Wma@ﬁvqaﬁﬁmxﬁmmaﬁamaﬁﬁv
gee 3 () o F # B v@w e Saw F w1 () i
FIET ST G&% SFAIANT 499 H OTi® g 2rm ) afe
TR gedl F THNYF AHeTH IeY @E IE B (B Ter
B, o frreay g I 2

Answer only 5 Short Answer Questions. Each question carries
16 (Sixteen) marks and should be answered in 150-200 words.
Blank 5 (Five) pages attached with this booklet shall only be

used for the purpose. Answer each question on separate page.
after writing Question No.

s(w)agsﬁ'ﬂunsﬁr%wé‘lmgw 16 (hers)
HFE B TUT IFH IT 150-200 =T H A 0GR
A% R 3@ gfeda & of gy @R 5 (W) gt #r & SuEn
ITEGF B | TdSH U B I UF AQ U F, 09T FEAr frawy
= H |

3 P.T.O.
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01. Who among ithe following has made economic determinism the basis
of his philosanhy.

(1) Karl Marx (2] Plato (3) Machiavelli {4) Laski
A Mafaars @ sud a1 snar fesfaias § § Rea g
27

(1) &t Had (2) @

(3) AfgEei (4) SIE

02. What do you understand by Secularism ?
(1) Non-gcceptance of Religion
(2) Restrictions on Religious activities
(3) Egqual recognition to all the religions
(4) To be a non-believer

ud e @ w9 aar ane o7
(1) 99 @& 9r=ar 9 2=

(2) =i Fral gv ufgese

3) & gAl B gEE TEer T

(4) =ifETeE S

03. The symbol of 1857 revolt was -
(1) Lotus and Bread (2} Rosc and Wheat
(3} Sword (4) Iron Rod
1857 % fagiz #1 udie o -
(1) 91 wd T4 (2) Teg ud A
(3) &Y (4) e zug
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04. Comprenensive Test Ban Treaty (CTBT) is related with -

05.

06.

07.

(1) Nuclear Non-proliferation (2) America's Foreign Policy

{3} Water Conservation (4} Soil Conservation

=T9eh G0 et ofdaey @it (CTBT) &1 ava #®

(1) YTH] FTHATT (2) SmAREm & faRer Aifa
(3) T HE (4) HIT FIEMT

"ANAND' is related with ?

1) Dairy (2) Horticulture

(3) Book Printing (4) Agriculture

“aree” T waEfaa B 7

(1) 2gf (2) TR IQTEA

(3) Y&TH BUE @) Py

Globalization is related with :

(1) Human Rights for all (2) Environmental Conservation
(3) Universal peace {4} Expansion of Capital
dedrepTeT HEtad © ¢ |

(1) |f & T ATHaEiEwT (2) wElERer Heeoy

(3) Afeep enfa (4) STt BT 9HW

Article 360 has been enforced in India :

(1) Only once (2) Twice

{3) Thrice (4) Never

AT 360 H TAFT AW # frad @ frar mar & 7

(1) 1% =GR (2) T &R

(3) @ =T (4 & T8l

5 DT.0.
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08. Leonardo-da-Vince is associated with :

09.

10.

11,

(1)
(3)

Painting {2)
Music (4)

et =1 fad (Leonardo-da-Vince)

(1) Pz (2)
(3) Hia | (4)
‘ADHAR’ is associated with :

(1) Uniform Identity Card (2}
(3} Poverty Elimination (4)
HrETr weEfag ®

(1) Ulgd == g (2)
(3) e Iy (4)
Who is called Napoleon of India ?

(1) Samudra Gupta (2)
(3) Harshvardhan (4)

WE & Ay R Fer wer & 7

(1)
{3)

AYE A
B ey

(<)
(4)

952/P.M.LR.

Seulpture

Dramatics

W T B
gidwmen
A |

Food security

Bank Account

T T
e war

Chandra Gupta

Ram Gupta

wE
e

Which one of the following is not a category of the ego states that have

been identified in the model

(1)
(3)

Super ego (2)

Parent ego {4)

of transactional analvsis by Berae ?

Adult ego
Child ego
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12.

13,

- 14,

Frefefee § | fF-a1 0% sEsr ot 55 grg fRifes B @
fafraa Qoo & gfeme & § Jd R 7

(1) 90 HEHR (2) IJIAEF FEFT
(3) HRT-fUar e (4) TITF FERIT

Which on of the following is not related with human variables in
highway accidents :

(1) Visual ability measures {2) Psychomaotor measures
(3) Age {4} Gender

ﬂq;gﬁgdwaﬁﬁﬁmﬁﬁqaﬁﬁﬁw—mmmﬁmﬁm
(ngmmzsmw (2) AFTBATES AG9F
(3) W (4) T

Which of the following measures is based on the "square of the differ-
ence between mean and scores of the data set" ?

(1} Average Deviation {2) Standard Deviation
(3) Quartile Deviation (4) Median

Fefafae & & $Ha-a1 /@ Aaw a1 959 GHE B oNiest B
T F g g onuiia B 7

(1) e faae™ (2) ATE e
(3) T e (4) wfeaEr

Which one of the following most appropriately refers to organizational
efficiency ?

(1) Planning for long term goals

(2} Meeting dead lines

(3} Making best use of scarce resources
(4) Attainment of goals

7 P.T.O.
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LS.

- 16..

l“ﬂ‘i;cﬁf"{i SERTEE: = R LTI £ SRR T 18] RIS IsY i ezifea oo,
RIFT

(1j 4 cﬁsié'::rr'rﬁ AT Wl ATHAT ST
(2] T AR et e e ey
13) HIMA Aarast @ gatem s g

(4) et e ayfer

The term "unity of commund” reters 1o the idea thot

(1] The ime of authority should be clear und direet

(2] Interdependence within a firm should be Kept to o minhioun
(3] Managers Qhuuld have a limned span of control

H  Every employee should have iy one boss

IS T IR ET RN S gw e @ B fa

(1) AR T OTEN wur o gedar S e

)T B IR O WY 9e e iy A g T sl e
() sEasl F R fare dfas s aen

(4) 9TE BHEE FT wep F gty wpn 2l

‘Human retations' ph]l()wphv I organizations was empirically popu-
larized by :

1) Frederik Tavlor 4 Adun Sunen
() Elton Mayvo (H Higo Munsterbnre

AN # 0TIl B a7 S5 U R 10 R ) 5 e
AR

() wefE Fer 12} T femer {
(3} Uedd mI | CHo &R TR s
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17;

18.

19.

20.

Which one of the following is related to iconic memory ?

(1}  Short-terin memory {2) Sensory memory
(3] Episodic memory (4) Echoic memory
Frfafaa & @ @9 afafaracrs o @ d=fag 2 7
(1) ST9shiieTh Tfd (2) dasr afa |
(3) guTHE® VA (4) eEaRHE S

In which vear did the Code of Discipline come into elfect in India ?

STITE gieen 9d # Ry ad § gordr ga or 7
(1) 1947 (2) 1957 (3) 1948 (4) 1938

According to the situational leadership theory, if employees are un-
willing and unable, then what would be appropriate leadership style
in this situation ?

{1) Participative (2) Democratic

(3) Person-oriented (4) Directive

affeafass Aga & orgaR, aft sHard sifvregs ofiv srawed B o
Wﬁﬁaqqaﬁéﬁﬁhmwﬁ?

(1) e9rT (2) ST
(3) =AfFEFEl 4) EameRes

Which one of the following is not a salient leature ol bnisiness ?

(1) Organized effort (2) Risk of loss

(3} Self-sufliciency (4) Competition
fepfafiae & @ # 1ep =Y w1 O ggE dE©r qE § o7
(1) #afeq gama (2) wif @ AiTE

(3) ®E-gH - (4) fereed

9 P.T.O.
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al.

22.

a3.

24.

Which of the following is ot velated to “change in one variable along
with the change in another variable' ?

(1) Time Series analysis (2) Correlational analysis
{(3) Regression analysis (4) Transactional analysis

Frafafga & & -1 ‘o 97 § & a9 ufgds & Hra-dryg gav
o H 87 aw ofwds’ & wwers Gé R ?

(1) rer 2ol frsdgor (2) WETEyEHF Rseamn
(3) wirrs frsdor (4) fafvames fassm
Which one of the following is not a wage plan ?

(1) Time wage plan (2) Monthly wage plan
(3} Piece wage plan (4) Balance wage plan
Frefafas & | @ vz aaw g =& & 7

(1) 99 a9 o (2) Wi Ja= drsrar
(3) @°¥ A9 QN (4) Hfda aas grsrEar

Which type of communication network in organizations has the goal
of maintaining the reward system ?

(1} Informal network {2) Integrative neiwork

(3) Innovative network (4) Regulative network
Wﬁ?w%ﬁwmﬁmw%ﬁm:%mmr
e B 7

(1) oFl=Eies Heame (2) EHUET G

(3) AAaugdwLer e (4) Frams doma

Which of the following is an example of mission ?

(1) Diversify product line to appeal to more people.

{2) Increase sales by 10% over last year.

(3) Pay highest salaries to keep high quality employees,
(4) Develop and sell quality appliances world-wide.

10
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25,

26.

27.

frforfRaer & & @ M7 %7 I8TBIOT B ?

(1) 379 @R I 3HHT & & oo IanEl |3 g @

(2) Trsd ad = gan § =& S 10% g%

(3) oferr ITEE A wHERE B wER & i qeq offus aad
1 I BT |

(4) IOTEETGERT IYHTCN 1 fara ud gfTeR ® anee w9 8 39w
Eeal

Which one of the following is not a "micro” component of business
environment ?

(1) Suppliers (2) Market-intermediaries

(3) Economic system of the state (4) Competitors

feafarftaa & @ B9 T AR-9@T HCge’’ GaeE T8 B 7
(1) &9 (2) AR & HAw™

(3) T FHI Ah-awRA (4) fereqe

Which of the following is mot a proponent of the 'trait' approach to
personality ?

(1) Gordon Allport (2) Raymond B. Cattell

(3) Hans Eyscenck (4) Carl Jung
freforfiaa § & @9 afdre & ofierger gitesm @ aads 7@ 2 7
(1) #tEF e (2) IqoE . FHew

(3) B 3TFH=h (4) eI G

Which one of the following is not considered as occupational discases ?
(1} Anthrax (2) Silicosis

(3) Malaria (4) Lead poisoning

11 P.T.0.
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28.

29.

Frefarfae o O (68 sa@eias quadt @t nen wen B v

(1) trsarer (2) fwieEnnEs
(3)  we {4y vitonm B

Market scgmen! which are fairly small and normally attract only one

or two competitors are popularly known as :
(1} Focus groups 2] Local groups

{
(3} Niches (4) Eihnic groups
qrArT wue A B 81 EF ¥ gar deet g o 41 ufgdfn e
e Hed ¥ oaEsfEn wy q

EREI G IS 1 B 1 BT

(1) e e (7] A HyE
{3 <Hdl W,I? 4) AT w7

Which one of the following 1s not a characterisue featare of "HRY
Chimate ?

{1} Mutual trust

(2) Faith in employees capabilities
(31 Openness of communication
(4) Strict formalization

Frsaferiaas § & 2rq vz g |t famm T auiaeey o1 asen @i

o .
g !

!

(1) wreesfes fasamy

(2) @t & erar § wimn
(3)  EEYOT ERiNG|

4) g7 ST

12
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30. In a research being conducted for comparing the performance ol two

31.

32.

groups of workers 'Group A" and 'Group B', the hypothesis formi-
lated [or verification is “There would be no difference in the measured
performance of Group A and Group B.' Which type of hypothesis
would this be ?

(1) Directional Hypothesis

(2) Non-Directional Hypothesis
(3)  Null Hypothesis

(4}  Universal Hypothesis

o

3 WgEl WY 3 G 998 A’ & (FOfed &1 e g duiEd ey

M TRl Wh AgEA # aieer & g ue T SIS AT

o wge S q41 ‘9qe 4’ & FomEs § mig oAqv Agl s ge i

TER P FEEFHEFTET ERT P

(1) TEomeds (2} TS
(3) TTemeF (4) @EditaH

Which one ol the following is not a component of information system ?
(1) Datra lapu

(2} Instruction and procedure

(3] Record and files
E

4) Central Processing Unit

frs & | &1 gIH-ToTel B UF °GEF A & 7

(1) e A3y (2) FEw " wigar
(3) ATHorEg od wIRe (4) HFET I THE

Which one ot the following concepts is not a part of the systems ap-
prodch to industrial relations ?

(1)  Market restraints

(2) Participation by union, Management and government

(3) Establishment of a classless soclety

(4) Rules and regulations at. the workplace

13 P.T.0.
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33.

34.

F=afed 4 4 sM-w U Guey siEfiee weedl & aifas
gftaepior #1 s 7€t B 7

(1) =T ST

(2) YFYA, JEAT g @R B wrelErd

(3) e JuT & i

(4) @ w@E g fFaE gur Fgeer

Which force places a ceiling on the maximum price that firms in an
industry can probably charge ?

(1) Threat of new entrants

{2) Threat of substitutes

(3) Bargaining power of buyers

(4) Bargaining power of suppliers

T I A pafar e sifuskay gen |t o gad ¥ 99 @ A
a1 g d@r e s & 7

(1) 4 gfa=ifegt s 9y

(2) et @ sy

(3) wiER! #1 der-afa

(4)  myfeenrdt & -

Organizational development is essential because it is a
(1) Source of careers

(2} Means to preserve knowiedge

(3] Means to accomplish change

(4) Vital part of small groups

WA (g sTasas 8, o4ile g8 0%, ... z
(1) o9 & E@ig

(2) SM HY&OT &1 HATeHH

(3) aRGEs HIT @ A"y

(4) B2 wgel & e Feget

14
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38. Which one of the following statements is not correct regarding Selye's

36.

model of stress ?

{1) 1t is basically a model for physical stress.

(2) Tt defines stress as the response of the body to any demand
made upon it.

(3) Consistent increase in demand leads to exhaustion or collapse.

(4) The responsis of the body are specific to the demands made
upon it.

Frefefiag § @ &9 0% FU9 I B JOEel & HiSH B g |
qer 98t ' 7

(1) g& goa: sTifes gened & U Hisd © |

(2) ﬁwﬁsﬁrwﬁmﬁm%qﬁﬁm%wﬂ
yfeaiea sear € |

(3) & H @ gfs afesia st oTfererqTer @t 30T ITET BT

7 |

(4) :ﬁlgrgﬁlﬂﬁw 2 U¥ 9gA g 5419 & fdieredn & ey
i

Which of the following is the correct order of the needs according to
Maslow's hierarchical model of human needs ?

(1) Safety, Sclf-Esteem, Belonging, Self Actualization

(2) Belonging, Safety, Self Actualization, Self-Esteem

(3) Safety, Belonging, Self-Esteem, Self Actualization

(4) Self-Esteem, Belonging, Self Actualization, Safety

T SAEFIBATA] o Hi %Wﬁ%nﬁﬁq%dﬁw{ammﬁmaﬂ
1 G FH FrAGiEd § @ Hb-ar g ?

(1) HTAT, ARHEHE, JITAIA, warea‘cﬁ'q—'m

(2) HAYATA, G, EATKTAIFTOT, SFATIHH

(3) YL, AT, ARHAH, FAARTIEHTT

(4) ARHETH, SO, FEARGARIOT, L&l

15 P.T.O.
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37. A process of negotiation and other related pressure tactics adopted

38.

39.

by employers and unions to determine the terms and conditions of
employment is termed as :

(1} Arbitration (2) Conciliation

(3) Adjudication (4) Collective Bargaining

g $ fadgys qur aiifafaat o Fuatn 5@ & fog fFHaaen
a7 Gui &R IYArT # wdl qEEHeT ufedr dur S whaiad gEe
Hfaal @ fpw ave ofowfe foeanr smer & 7

(1) FEqTIa] (2) yaE
(3) sIfafoigs (4) wrifes QR

Which of the following leadership styles is characterized by 'leader
sharing the decision making abilities with group members by pro-
moting the interests of the group members and by practicing social
equality’ ?

(1) Authoritative (2) Democratic

(3) Laissez-faire {4) Transactional

“HeT BT QY8 B 9Sdl W SrEdl @l gerar I aur Jrenfis
AT 6 ITefte™ #ed gd Hoig A9 &t anrar &1 qge & gad
% @Y aqn w3, Frafafaa ® @ Bra Faa O & aeer R

?

(1) SArfeeniEn (2) WA

(3) HBEIWUHS (4) fawaes

Fringe benefits do not satisfy the following :

(1} Social goal (2) Macro economic goal
{3) Personal goal {4) Human relation goal
syt @y Preifdfed @ g 98 s g

(1) @SS |8y (2) gea Infdes @eg

(3) =fERTTd T (4) HFG @Y Fey

16
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40. Once an organization develops a strong culture, there 1s

............ change.

(1) no way to predict (2) individual pressure on

(3) little resistance to (4) considerable resistance to
HTEH & UF A Aoiga degpia eiad HT ad 97, aRadd.. ...
........ 2

(3) & ufa 42T wiay an
4) B gfa sIftes wfae dan

17 P.T.O.
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Short dnswer Questions
@Y TN g9

Note: Attempt any five questions. Write answer in 150-200 words. Each

O1.

02,

03.

04,

05.

question carries 16 marks. Answer each question on separate page,
after writing Question Number.

it AT 09t & S 150-200 STt # v | TRE g9 16 aie
am?:tq@?ﬁsrs#mwemﬂrwwmaﬁ@rf%lwg;sﬁi

Distiniguish between a market development and a product develop-
ment strategy.

AT [hd v 3ere faera gf § Rrde @R

Liiscuss the salient features of the Minimum Wage Act, 1948,
Uae da9 sfafargn 1948 @ o faderelt @ fgdemr #ifo
Discuss the major challenges to Human Resource Management posed
by changing business environment with special reference to India.
W%ﬁﬁamﬁwqaimﬁﬁ%a@ﬁaﬁmmﬁﬁ
AT HEIET g S g gt o R st

Differentiate between the selling concept and the marketing con-
cept.

ﬁw@mam%mmqﬁﬁﬁwﬁﬁrm

Outline the salient features of field study as a research method and
its significance in management.

%a@‘ﬁmﬁfﬁ%"@qﬁaﬁamﬁ%ﬁﬁm&rwﬁamwm
H 3% e H I@ithd A |

18
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Q6.

07.

- 08.

10.

Explain the force-field analysis model of diagnosing problems and
give an example of the use of the model.

FHENST B MEE F g9-a9 Aedwer gfems @ e it ue g9
Ufda™E & AT T TR IET8TOT &1 |

Highlight the measures that can be taken by the Human resource
department for increasing the effectiveness of the grievance handling
machinery in industrial organizations.

qH9g 999 [G9rT &0 399 R 3 g 39 39l @ 3R
ifore e et et # g dEeE 9 il GHIgeR T
T FETAT AT ThaT & |

Describe the behavioural interventions used in work organization for
managing employees siress.

FA-FSA H, HHE $ TqET & gEdE 8 UPER AT
SFUGON & guTH T |
Briefly discuss the steps involved in wage determination process.

Jaq Fater gfear & Ffea awon o dfere RE=ET fifse

Explain what is aptitude and discuss the importance of assessment
of aptitudes for management.

IRERgAr = B S99 Aare HIfa o geyE @ A3 sifigeaen
HI9 & HEed i 9w i |

19 P.T.O.
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Question No. Page for Short Answer

geq  HEn A Iy B R g
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Question No, Page for Short Answer

us  €edn 7y Iy & o7

21 P. 7.0,
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Question No. Page for Short Answer

9L wen | oY garly 3 R gw
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Question No. Page for Short Answer
geq deAr g Smay 3 B g

23 P.T.O.
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Question No. Page fo: Short Answer
ST et qay aardig @ R ogss

24
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Question No. Page for Short Answer

gs e g Sy B e I

25 P.T.C.
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Question No. Page ,for Short Answer
W Y SO @ g g
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10.

11,

12.
13.
14.

Hegidrs: & fent faEw
(5% QREAET & Yo SaEqoT Y qer 307 & @ gt e dhaer Hiell ar #redt
FTer-raEz o 8 & e

TR e AT G o1 fres & s @ 2w W e oweae § ad g dieg § R AT ue
W T | TR A EE W e e e we-fafad w dme et yes
g gl aftde A s A
TR qEd A feTeraT YEd gRv-uF & Sifaften. fawn @ ue mE d |en &Ue we d s
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